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      Solution A has a high concentration of water , solution B has a low concentration of water , water moves by osmosis from a highly concentrated solution (with water )to a lower concentrated solution (with  water) through a partially permeable membrane. 
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During a science lesson, a student writes down the following statement about osmosis.
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Using your knowledge of osmosis, suggest what is wrong with this statement.
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Write a more accurate statement to describe osmosis
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Figure 2 shows two solutions separated by a partially permeable membrane.
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() Identify the direction of the net movement of water molecules, from Ato B, or Bto A
)

(i) Explain why there is movement of water molecules in this particular direction
)
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